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AARRNITUIN [
1) (2Xx3)x5 = 2X(3x5) 7) 100+VZ bUBI1%3%939
2) 2(x+5) = 2%x+10 8) 2X(6X5) = (6X5)X2
3) (4+45)+3 = 3+(4+5) 9) VSx1=+5
4 Sxs=1 10) 3+ (-3) =0
5) 10X10 bUBINBIHY 1) -2+0 = -2

6) 7+(3+8) = (7+3)+8
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(2x7+3x-4) + (3x*+2x-2) HALNILA

8. 5 +5%-6 b. 5x"+x-8

5% +3x -x-2+4%"-2x"+3x-3 HALNILA

a. AX -X-2%X+5 b. ax’-x"+2%x-5

(4x°+3x-4) - (x*+2%-3) FAWNLe

a. 33X -x+7 b. 3x +x-1

(5x°-x+4) - (2x-3x+5) AAWNNA

a. 5x-2x°+2x-1  b. 5x°-3x"-x-9

ax(4x*+2x-3) AABNLA

a. 7X +5x-9 b. 7x+5x"-ax

(3x+4)(2x-3) AAWNINA

a. ex‘+x+12 b. 6X°-X+12

C.

. ax +x"+2%-5

i 5x’+5x+7

. BX 3% 4+X-1

X +5X-6

12x°+6x"-9x

6% +x-12
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1) X'43x+2 = (x+2)(x+1)
2) X'-4x+4 = (x+2)(x+2)
3) X'+2x-8 = (x+2)(x-4)
4) X*-3x-10 = (x-5)(x+2)
5) X'-q = (x+3)(x-3)

6) (2x)°-25 = (2x+5)(2x-5)
7) 4x"-16 =

(4x+4)(4%-4)

8) ax’-4 = (3ax+2)(3x-2)

LT

d. 5% +5%-8

d. ax’+x*-2x-5

d. 5% +5%-1

d. 5x-2x"-2x-9

d. 12x°+5x"-9x

d. 6x°-x-12
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